iﬁﬁmk lowad M) g Chn+

cM%a\lTﬂcﬂ-ﬂw 2W

Canv\e;; WMy A9¥S)°

o Abehon 4P assoc=ted += M

Wl A gl g o M
(xa)e ™\ st /lm\vd-%*ql\l—?ﬁ Ercenplex.

o i 4— M'a MV - [ s
- LB e
Call| ©€ ACM) ° Mam = €
FO cafmléa, ”rm\’:"’f/( '7()- Vo (> Gt .uec

CA (M) = cat v s

D ofpomady et
;M: Ad () _Cow\ wt UCH)
T () & AdCM)

Ot (M) = MMJ/@{-CM).



.S&/\L; K-\\wvo&vu«(—- 6[7&)}: Ce Q%&Awa{‘c\Q
(o on AL

Flbig +#iclone S5O 3 g pk o

b g flpln 90 ab el ob He, CA, C

TP priated baadid wgen cod

(rall dopets Wnmbe
Y %c;- [N, X@%:’ e

N T endud Conmeg' EMM)
<o & UV‘W B o M wiég
N Ol vt pelc . ,\/wmh‘(a‘é,.

cextud (D, KT Z(M)
L,JIA?r 2 thz Swl%«'rsl\fd_\?
o via's o o 2’% %M] =B (™)

93(7}‘ V*JC\'—(S
> ( o b(}'\«exé S
s bl Mteeug <




Prevtowes  wegulty®

5‘%%(47;&%%5 dit3z): Qc(;»t\'t M, ) £
- I S qbfeces<

Thay (K932 NCH ASD wred. finde #dex, fante Lepthe
Subfuctan, XM D) £ | mp)/u(u)\ » | D (WEO))

) égﬂ,{)ﬂ-{M ‘f’” V"“%“a_ L“L%( CM‘/Q&

P (VDY Lier 0 bfn of

LT b T L H~H buedg
[uses byuaye  of oot of MaoEeD)

6 ] F s gohpa R C B,

A first problem to solve about ¥(M*) and x(M) is whether or not, like in the case
of the usual y(M), they are commutative tensor categories. Also, it is an open question
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